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������3.1 
$%���� 
����A	�������
��-.#���# (���) 
 

3.1  ���
������ �!�����"#$
%
�& 
 +�%�����-.#��#���
���$����������$%���� &���'�.#����)�����
  -���	
��.��������$��D���#����

������+��
	�� 
��

���������*�-#�����������##� ��#���$� -��.��������'������)#*��

���������
�.�E����	�)�� �,�)�����
  ��������
   5��"����#� -��*����$���#.'���D��.������(
  *��
�
�����,���=F�
G��*���#.'���D 
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������3.3 

��������� 

 
 

������3.4 ���������	����
   
 

3.2  �������"&������
���"#$
%
�& 
 *�����
����)���#�.�E���)��
��
� &���'�-.#���#)�����
  -��*+�.���#��*��#E��� Centroids of 
lines ���"���#�
  )=
������� (Forward  kinematics)  
�����"���#�
  &�&$� (Inverse kinematics) -��
*������	%���=F���#���.#���� �>E��*+�*���#>���#D���"�
�����*�
����
����� *�
��������
���������� �>E��
�'�)=�'����.��*�-=#
�#� ��E��������E��
 ��.#,������
���������� 
 3.2.1 ���"���#�
  )=
������� (Forward  kinematics) 

 ��#���.#���� ���"���#�
  )=
��������$%� )��.���#E���
#�, 
��� 
���%'���$� ��E���#�)������#
���"���#�
  )=
��������>E���'�)=���� �$  ����#���"���#�
  &�&$� *��	��	%*���#���.#��������
�'�
����
��
�����
��������
����
����$��	%  

 
 

������3.5 
��*�
����
����� (��������) 



26 
 

 
 

������3.6 
��*�
����
����� (���� �) 
 

�'��$�
=#*�
����
����� �'���*��*���#�� Denavit-Hartenberg   
 

       ��������3.1 ��#��.���$�
=# Denavit-Hartenberg 

i α��� a��� d�  θ� 

1 0 0 0 θ� 

2 90 L� 0 θ	 

3 0 L	 0 θ
 

4 0 L
 0 0 

 
����$%�
��.����*� T�

���  General Transformations 
 

cθ�              -sθ�                0                a��� 
                                         T����  =     sθ�cα���     cθ�cα���     -sα���       -sα���d� 
           sθ�sα���     cθ�sα���      cα���          cα���d� 

 0                   0                   0                 1 
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.����$�>$�A�#������G�� �$  
������	�1   
 
  cθ� -sθ� 0 0 
                                           T��  =  sθ�                cθ�                 0                 0 
                                                             0                0                    1                 0 
                                                             0     0                    0                 1 
 
.����$�>$�A�#������
������	�1 �$  
������	�2 
 
                                                          cθ	                 -sθ	            0                L� 
                                         T	�  =     0                    0                  -1                0 
                                                         sθ	                   cθ	                  0                0 
                                                          0                       0                    0                1 
 
.����$�>$�A�#������
������	�2 �$  
������	�3 
 
                                                          cθ
            -sθ
             0                L	 
                                          T
	  =  sθ
                    cθ
  0                    0 
                                                            0                 0               1                0 
                                                          0                        0                    0                1 
 
.����$�>$�A�#������
������	�3 �$  
������	�4 
 
                                                            1                  0                  0                L
 
                                           T�
  =    0                      1                   0                0 
                                                             0                   0                  1                0 
                                                             0                      0                    0                1 
 
.����$�>$�A�#������G�� �$  
������	� 2    
 
                                                      c�c	                -c�s	                 s�               L�c� 
                                           T	�  =  s�c	                 -s�s	               -c�               L�s� 
                                                        s	                 c	                   0                 0 
                                                         0                  0                   0                 1 
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.����$�>$�A�#������G�� �$ 
������	�3     
 

 c�c	
 -c�s	
 s�           L	c�c	+L�c� 
                                                                                 T
�  =   s�c	
 -s�s	
 -c�          L	s�c	+L�s� 
  s	
   c	
 0             L	s	 
   0    0 0                  1 
 
.����$�>$�A�#������G�� �$  
������	�4  
 
  c�c	
          -c�s	
         s�           L
c�c	
+L	c�c	+L�c�    
                      T��  =   s�c	
 -s�s	
             -c�          L
s�c	
+L	s�c	+L�s� 
   s	
   c	
 1             L
s	
+L	s	 
     0                     0 0 1 
 

3.2.2 ���"���#�
  &�&$� (Inverse kinematics) 
       �����#�����"���#�
  )=
������� ���'�*���#��#� .����$�>$�#������
���������( *��	��	% �#�
��E��>���#D����=�����	� �$ G�� ���f�>�	�3.7 �=F���#
���.������(�	�������#�� 
 
             

 
 

  θ�  = Atan2 (Ya , Xa)                    (3.1) 
 

         r�  = ��X�
	� Y�	    (3.2) 

 
 
 
 

 
                         ������3.7 f�>���� � 
 
 �������#�	� (3.2) .��
�� r�  ��E�����������=���
��
�����#j�.�E����	��������$  L� 
���.���	�)��
����#j�	.���=F�� )�� 
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      r	  = �r� � L��	  + Z�

	   (3.3) 
 X�  = �r� � L��	1    (3.4) 

        r		 = L	
	  + L


	  + 2L	L
c
   (3.5) 

         c
 = 
 !
!�L!

!�L#
!

	L!L#
 

         s
 = ��1 � c

	  

                       %   θ
  = Atan2(s
, c
)   (3.6) 
        θ	  = & + ' - 90 
          & = Atan2(X� , Z�) 
        k� = L	 + L
c
     
        k	 = L
s
    (3.7) 
                     ' = Atan2(k	 , k�) 
                %    θ	  = Atan2(X� , Z�) + Atan2(k	 , k�) k 90 (3.8) 
 

  ������3.8 f�>��������     
           

3.2.3 ���"����j���
������ (Centroids of lines) 
        ��#�����"����j���
�����������$%��#����'����*���$����������$%��=#	� ���E�������	��	.���
���
��� >E%��	������$� 
��.��������E%���$������$%����� �>E��*����������#>���#D����"����j���*��	��	%.E�
�$��������#�����"����j���
����������
D��E������$ �	���� f�>�	�3.9 
 

 ��������3.2 .�����"����j���
�������������
�
   5 ��"����#� 
�����	� L x* y* x*L y*L 

L0 25 12.5 0 312.5 0 
L1 145 97.5 0 14137.5 0 
L2 47.5 170 -23.75 8075 -1128.125 
L3 47.5 170 -71.25 8075 -3384.375 
L4 145 97.5 -95 14137.5 -13775 
L5 25 12.5 -95 312.5 -2375 
∑ L = 435  ∑x* L = 45050 ∑y* L = -20662.5 

 
X- ∑L   =  ∑x* L     ;      X- (435) = 45050  ���"����j��� X- = 103.56 mm 

 Y- ∑L   =  ∑y* L     ;      Y- (435) = -20662.5 ���"����j��� Y- =  -47.50 mm 
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������3.9 ���"����j���
D��E� 
 

3.3  ���./�������
���"#$
%
�& 
 ��#����
���������� 2 
� ������#j�'�)��-����#�'������"�
��
����
�����*�
�����$����
����#
����
��*���#����
����.#$%� ��E��
��	�������j����
,%� �����E�
��	� 1 
��	����=F����#��#$ �%'���$� �$��$%� ��E��
���	��#��
�*�
,%� �,��'��=F��������	��#j����%'���$�
���$���������*�����"����j���)��*������>E%��	�
��G�� �>E��
+���*�����������#��$�����*�� 
��*��$�����	�����
�)=
����������"����j���������������G��)=����	�
�������
�'�*��������������)=
�������)�� �$��	�
���*�f�>�	�3.10 �=F���#j����%'���$�
���������� 
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������3.10 �$������#j����%'���$� 
 

3.4  ���12!��
��3�3������ 
 ��E���#�)���'�����$������#����
���������� 
����"�
��
����
�����
��� �#����'���"��	�)����.'���D
.��������
���$HH�D>$��� �>E���	����'�)=�
	��-=#
�#� +,��)�-.#.��-�#����#�
���#�*+�.#�����
��� 
18.432 MHz *+�������#�$ ����*�-��� 2 �=F����#�$ ����
��� 8  �� ��#*+���������'����.��*�#	������#� 
THx 
�� TLx �>E��*���$ ����$HH�D��p���
��#�  ��j,� FFH 
�������-����#�-2��� ��#�'����.��*��
#	������#� THx 
�� TLx �	
$%�����$��	% 

3.4.1 *���#���G������ *��	��	%�#��'����G�����������$  .��������
���$HH�D>$��������� / ��� 
��"��	������#�����)�� 

2 ms  /  180o   =   0.0111 ≈  0.01 ms 
3.4.2 .'���D������
��
�++	�)r�.�� 

���� 1 �$HH�D��p���(T) = 1/.���j	� = 1/18.432 MHz = 0.0542 µsec 
���� 1 
�++	�)r�.�� = ���� 1 �$HH�D��p��� × 12 = 0.0542 × 12 = 0.65104 µsec 

3.4.3 .'���D���'����
�++	�)r�.���	��'�*��������#-����#�-2��� 
�'����
�++	�)r�.�� = 0.01 ms / 0.65104 µsec = 10 / 0.65104 = 15.36 ≈ 15 

3.4.4 .'���D��#�'����.��*���$ #	������#� THx 
�� TLx 
THx 
��TLx = 256 k 15 = 241 = F1H 

.���	��'����*��#	������#� THx 
�� TLx .E� F1H ���'�*�� Timer �'���#�$ �'����
�++	�)r�.���'���� 
15 .#$%���)������ 0.01 ����������	 
���'�*��������#-����#�-2����#E��$ ���� FFH 
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3.4.5 �
	��2u���+$%���#*+��������f���r	)���$��	% 
void delay(int pw) 
{TL0=0xF1;   //Timer 0 ,0.01 msec 
TH0=0xF1; 
TMOD=0x02;   //Mode 2,8bits Auto Reload 
while(pw--) 
{TR0=1;     //Set Timer0 
do{    //Waiting 
     }while(TF0==0); 
TF0=0;    //Clear TF0 
} 
TR0=0;    //Stop Timer 0 
}  

 


